Area of 2D figures
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1. The area of trapezoid HJKL is 385 mmZ. 2. Samantha is buying stones for a 16 foot

825x1088in

Find LM to the nearest tenth.

s2mm L
K 0

by 3 foot walkway. She needs to buy 10%
extra for cutting stones for the corners
and ends. The stones are rectangles

7 inches long and 4 inches wide and

cost $0.97 each. About how much will

the stones cost for her walkway?

3. The length of a rectangular pool is
2 feet less than twice the width. If the
area of the pool is 264 ft2, what are
the dimensions of the pool?

Choose the best answer.

<

. Find the area of the kite. Round to the

nearest tenth.
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i 5. A parallelogram has sides of length 6. Jamie is cutting out 32 right triangles from
| 30 centimeters and 18 centimeters. fabric for her quilt. The shortest side of
One of its angles measures 58°. Which each triangle is 2 inches, and the longest
is the best estimate for the area of the side is 5 inches. How much fabric will she
parallelogram? use to cut out all the triangles?
in?
A 2748 om? F 1466in°
B 2862 om’ G 2933 n
C 457.9 cm? 8. The house is made from 7 puzzle
D 540.0 cm? pieces. The pieces are triangles and
arallelograms. If the area of the chimr
» 7. In thombus ABCD, the length of pagielo ney

is 3in? what is the area of ALMN?

diagonal BD is % the length of
diagonal AC. If the area of the
figure is 75 cm?, find BD. M

E c

H 3 "
.

A 74cm C 10.6cm
9 2 942
B 10cm D 15cm F gpin H Zin
92 in?
G fkin J 9in
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Find each measurement.
1.

the perimeter of the rectangle in which the area of the square
A =2xymi?

3. the height of a parallelogram in which A = 96 cm® and b = 8x cm

b, of the trapezoid in which A = 4x? in? the area of the triangle
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b, of the trapezoid in which A = 4x? in? the area of the triangle
6. the area of a trapezoid in which b, = 3a km, b, = 6a km, and h = (10 + 4c) km
7wl L.
1/ oo
F &= @y-am
the perimeter of the kite in which the area of the rhombus.
A = 49.92 yd®
9. d, of the Kite in which d, = (a — 4) ftand A = (2a° — 8a) ft*
oo Pt 55 Holt Geometry
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3. When diving and snorkeling, you should \_bottom tier /

leave a “radius of approach,” or a
restricted area around certain animals
that live in the waters where you are
diving. How much greater is the restricted 4. Avyield sign is a regular triangle and

area around a monk seal than the is available in two sizes: 30 inches or
restricted area around a sea turtle? Give 36 inches. Find how much more metal
your answer in terms of . is needed to make a 36 inch sign than

a 30 inch sign. Answer to the nearest

m Radius of Approach percent.
| seatutle |  20ft |

oo /

36 in.

Choose the best answer.

5. A regular hexagon has an apothem 6. An amusement park ride is made up of a -
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5. Aregular hexagon has an apothem
of 4.6 centimeters. Which is the best
estimate for the area of the hexagon?

A 36.7 cm®
B 63.5cm’
C 73.3cm*
D 146.6 cm®
. Acyclist travels 50 feet after
7.34 rotations of her bicycle wheels. What

is the approximate diameter of
the wheels?

A 13in.
B 24in.

C 26in.
D 28in.

Copyright © by Holt, Rinehart and Winston.
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6. An amusement park ride is made up of a
large circular frame that holds 50 riders.
The circumference of the frame is about
138 feet. What is the diameter of the ride
to the nearest foot?

F 22t
G 44 ft

H 69 ft
J 138 ft
. A regular pentagon has side length

16 inches. What is the area of the
pentagon to the nearest square inch?

H 544 in®
J 881in?

F 440 in®
G 369 in’
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* 78 Developing Formulas for Circles and Regular Polygons

Find each measurement. Give your answers in terms of .

| &

the area of OV the area of OH
the circumference of ©M the circumference of ©R
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Find each measurement.

9.  The perimeter of the rectangle in which A = 2xy mi2   

10.    The area of the square below

11.  The height of a parallelogram in which


12.  The area of the triangle

        A = 96 cm2 and b = 8x cm

13.  b1 of the trapezoid in which A = 4x2 in2     

14.  The area of the rhombus
15.  The perimeter of the kite in which A = 49.92 yd2  
16.  

17.  







18.  


19.  







20.  Find the circumference and area of       R.

Stella wants to cover a tabletop with nickels, dimes, or quarters.  She decides to find which coin would cost the least to use.

21.  Stella measures the diameters of a nickel, a dime, and a quarter. They are 21.2 mm, 17.8 mm, and        24.5 mm. Find the areas of the nickel, the dime, and the quarter. Round to the nearest tenth.
22.  Divide each coin’s value in cents by the coin’s area. Round to the nearest hundredth.

23.  Tell which coin has the least value per unit of area.

24.  Tell about how many nickels would cover a square tabletop that measures 1 square meter.  Then find the cost of the coins.
# of nickels __________________________________

Cost of the coins: ______________________________

